

| Division | Employer Name                       | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|-------------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| STATE    | AGRICULTURE DEPT                    | 427                         | 4         | 1       | 0      | 3        | 0                        | 27     | 0.23%                         | 6.32%   |
| STATE    | APPALACHIAN BEHAVIORAL HEALTHCARE   | 207                         | 0         | 0       | 0      | 1        | 0                        | 81     | 0.00%                         | 39.13%  |
| STATE    | ATTORNEY GENERAL                    | 1,427                       | 3         | 1       | 0      | 2        | 1                        | 58     | 0.07%                         | 4.06%   |
| STATE    | AUDITOR OF STATE                    | 764                         | 2         | 0       | 0      | 2        | 0                        | 45     | 0.00%                         | 5.89%   |
| STATE    | BELMONT CO CORRECTIONAL INSTITUTION | 421                         | 2         | 0       | 0      | 0        | 2                        | 31     | 0.00%                         | 7.36%   |
| STATE    | BOWLING GREEN STATE UNIVERSITY      | 1,631                       | 1         | 1       | 0      | 1        | 0                        | 95     | 0.06%                         | 5.82%   |
| STATE    | CAMBRIDGE DEVELOPMENTAL CENTER      | 138                         | 1         | 0       | 0      | 1        | 0                        | 53     | 0.00%                         | 38.41%  |
| STATE    | CENTRAL STATE UNIVERSITY            | 271                         | 3         | 1       | 0      | 1        | 1                        | 11     | 0.37%                         | 4.06%   |
| STATE    | CHILLICOTHE CORRECTIONAL INSTITUTE  | 486                         | 6         | 1       | 1      | 4        | 0                        | 153    | 0.21%                         | 31.48%  |
| STATE    | CIRCLEVILLE JUVENILE CORRECTIONAL   | 209                         | 1         | 0       | 0      | 0        | 1                        | 47     | 0.00%                         | 22.49%  |
| STATE    | COLUMBUS DEVELOPMENTAL CENTER       | 294                         | 1         | 0       | 0      | 1        | 0                        | 54     | 0.00%                         | 18.37%  |
| STATE    | COMMERCE DEPT                       | 830                         | 1         | 2       | 0      | 0        | 0                        | 84     | 0.24%                         | 10.12%  |
| STATE    | CORRECTIONAL RECEPTION CENTER       | 436                         | 3         | 1       | 0      | 1        | 1                        | 75     | 0.23%                         | 17.20%  |
| STATE    | CORRECTIONS MEDICAL CENTER          | 481                         | 4         | 6       | 0      | 1        | 0                        | 63     | 1.25%                         | 13.10%  |
| STATE    | CUYAHOGA HILLS BOYS SCHOOL          | 208                         | 1         | 1       | 0      | 0        | 0                        | 24     | 0.48%                         | 11.54%  |
| STATE    | DAYTON CORRECTIONAL INSTITUTION     | 217                         | 2         | 3       | 0      | 0        | 1                        | 32     | 1.38%                         | 14.75%  |
| STATE    | DEPARTMENT OF VETERANS SERVICES     | 651                         | 4         | 0       | 0      | 3        | 1                        | 39     | 0.00%                         | 5.99%   |
| STATE    | DEPT OF ADMINISTRATIVE SERVICES     | 768                         | 2         | 0       | 0      | 0        | 2                        | 80     | 0.00%                         | 10.42%  |
| STATE    | DEPT OF EDUCATION                   | 468                         | 1         | 1       | 0      | 0        | 0                        | 9      | 0.21%                         | 1.92%   |
| STATE    | DEPT OF TAXATION                    | 759                         | 4         | 2       | 0      | 1        | 1                        | 64     | 0.26%                         | 8.43%   |
| STATE    | DEPT OF TRANSPORTATION              | 4,847                       | 22        | 12      | 0      | 6        | 9                        | 643    | 0.25%                         | 13.27%  |
| STATE    | ETHICS COMMISSION                   | 16                          | 1         | 1       | 0      | 0        | 0                        | 0      | 6.25%                         | 0.00%   |
| STATE    | GALLIPOLIS DEVELOPMENTAL CENTER     | 192                         | 1         | 1       | 0      | 1        | 0                        | 77     | 0.52%                         | 40.10%  |
| STATE    | HEALTH DEPT                         | 1,207                       | 3         | 0       | 0      | 2        | 1                        | 71     | 0.00%                         | 5.88%   |
| STATE    | HEARTLAND BEHAVIORAL HEALTHCARE     | 227                         | 1         | 0       | 0      | 0        | 1                        | 24     | 0.00%                         | 10.57%  |
| STATE    | INDIAN RIVER BOYS SCHOOL            | 241                         | 1         | 0       | 0      | 1        | 0                        | 18     | 0.00%                         | 7.47%   |



| Division | Employer Name                          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| STATE    | INDUSTRIAL COMMISSION                  | 304                         | 0         | 0       | 0      | 1        | 1                        | 22     | 0.00%                         | 7.24%   |
| STATE    | INSURANCE DEPT                         | 245                         | 1         | 1       | 0      | 0        | 0                        | 12     | 0.41%                         | 4.90%   |
| STATE    | JOB AND FAMILY SERVICES                | 2,829                       | 7         | 0       | 0      | 4        | 3                        | 279    | 0.00%                         | 9.86%   |
| STATE    | KENT STATE UNIVERSITY                  | 3,103                       | 5         | 2       | 0      | 3        | 3                        | 106    | 0.06%                         | 3.42%   |
| STATE    | LEBANON CORRECTIONAL INSTITUTE         | 413                         | 4         | 1       | 0      | 2        | 1                        | 84     | 0.24%                         | 20.34%  |
| STATE    | LIQUOR CONTROL COMMISSION              | 5                           | 0         | 1       | 0      | 0        | 0                        | 1      | 20.00%                        | 20.00%  |
| STATE    | LONDON CORRECTIONAL INSTITUTE          | 289                         | 2         | 3       | 0      | 0        | 2                        | 52     | 1.04%                         | 17.99%  |
| STATE    | LORAIN CORRECTIONAL INSTITUTION        | 387                         | 4         | 2       | 0      | 2        | 1                        | 32     | 0.52%                         | 8.27%   |
| STATE    | MADISON CORRECTIONAL FACILITY          | 457                         | 3         | 5       | 0      | 1        | 2                        | 55     | 1.09%                         | 12.04%  |
| STATE    | MANSFIELD CORRECTIONAL INSTITUTE       | 553                         | 2         | 2       | 0      | 1        | 2                        | 79     | 0.36%                         | 14.29%  |
| STATE    | MARION CORRECTIONAL INSTITUTE          | 369                         | 0         | 0       | 1      | 0        | 0                        | 45     | 0.00%                         | 12.20%  |
| STATE    | MEDICAID                               | 576                         | 1         | 0       | 0      | 1        | 0                        | 1      | 0.00%                         | 0.17%   |
| STATE    | MENTAL HEALTH SUPPORT SERVICES         | 544                         | 2         | 1       | 0      | 1        | 0                        | 38     | 0.18%                         | 6.99%   |
| STATE    | MIAMI UNIVERSITY                       | 2,278                       | 9         | 5       | 0      | 4        | 2                        | 131    | 0.22%                         | 5.75%   |
| STATE    | MOUNT VERNON DEVELOPMENTAL CENTER      | 205                         | 0         | 1       | 0      | 0        | 0                        | 50     | 0.49%                         | 24.39%  |
| STATE    | NATURAL RESOURCES ADMINISTRATION       | 1,808                       | 9         | 6       | 1      | 4        | 1                        | 123    | 0.33%                         | 6.80%   |
| STATE    | NOBLE CORRECTIONAL INSTITUTE           | 371                         | 4         | 0       | 0      | 2        | 2                        | 36     | 0.00%                         | 9.70%   |
| STATE    | NORTH OHIO DEVELOPMENTAL CENTER        | 229                         | 1         | 0       | 1      | 0        | 0                        | 55     | 0.00%                         | 24.02%  |
| STATE    | NORTHCOAST BEHAVIORAL HEALTHCARE SYS   | 474                         | 3         | 2       | 0      | 1        | 1                        | 129    | 0.42%                         | 27.22%  |
| STATE    | NORTHEAST OHIO MEDICAL UNIVERSITY      | 329                         | 2         | 1       | 0      | 1        | 1                        | 9      | 0.30%                         | 2.74%   |
| STATE    | NORTHEAST REINTEGRATION CENTER         | 154                         | 1         | 0       | 0      | 0        | 1                        | 14     | 0.00%                         | 9.09%   |
| STATE    | NORTHEASTERN EDUCATIONAL TELEVISION OH | 17                          | 1         | 0       | 0      | 0        | 1                        | 2      | 0.00%                         | 11.76%  |
| STATE    | NORTHWEST OHIO PSYCHIATRIC HOSPITAL    | 201                         | 1         | 1       | 0      | 0        | 1                        | 1      | 0.50%                         | 0.50%   |
| STATE    | OHIO FACILITIES CONSTRUCTION COMMISSIO | 83                          | 1         | 1       | 0      | 1        | 0                        | 0      | 1.20%                         | 0.00%   |
| STATE    | OHIO PUBLIC DEFENDER COMMISSION        | 145                         | 1         | 0       | 0      | 0        | 1                        | 7      | 0.00%                         | 4.83%   |
| STATE    | OHIO STATE PENITENTIARY                | 318                         | 1         | 0       | 0      | 0        | 1                        | 54     | 0.00%                         | 16.98%  |



| Division | Employer Name                          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| STATE    | OHIO STATE UNIVERSITY                  | 23,983                      | 41        | 21      | 0      | 17       | 16                       | 601    | 0.09%                         | 2.51%   |
| STATE    | OHIO TURNPIKE AND INFRASTRUCTURE COMM  | 616                         | 1         | 1       | 0      | 0        | 1                        | 51     | 0.16%                         | 8.28%   |
| STATE    | OHIO UNIVERSITY                        | 4,231                       | 4         | 3       | 0      | 4        | 2                        | 165    | 0.07%                         | 3.90%   |
| STATE    | OHIO WOMEN'S REFORMATORY               | 424                         | 2         | 3       | 0      | 0        | 0                        | 60     | 0.71%                         | 14.15%  |
| STATE    | OPPORTUNITIES FOR OHIOANS WITH DISABIL | 1,130                       | 3         | 1       | 0      | 2        | 1                        | 121    | 0.09%                         | 10.71%  |
| STATE    | PAROLE AND COMMUNITY SERVICES          | 788                         | 0         | 1       | 0      | 0        | 0                        | 86     | 0.13%                         | 10.91%  |
| STATE    | PICKAWAY CORRECTIONAL INSTITUTE        | 376                         | 4         | 2       | 0      | 0        | 3                        | 82     | 0.53%                         | 21.81%  |
| STATE    | PUBLIC SAFETY ADMINISTRATION           | 1,906                       | 8         | 6       | 1      | 2        | 2                        | 160    | 0.31%                         | 8.39%   |
| STATE    | PUBLIC UTILITIES COMMISSION            | 304                         | 0         | 1       | 0      | 0        | 0                        | 17     | 0.33%                         | 5.59%   |
| STATE    | RACING COMMISSION                      | 14                          | 1         | 0       | 0      | 1        | 0                        | 1      | 0.00%                         | 7.14%   |
| STATE    | REHABILITATION AND CORRECTION          | 502                         | 2         | 2       | 1      | 1        | 0                        | 80     | 0.40%                         | 15.94%  |
| STATE    | RICHLAND CORRECTIONAL INSTITUTION      | 359                         | 6         | 4       | 0      | 2        | 4                        | 21     | 1.11%                         | 5.85%   |
| STATE    | ROSS CORRECTIONAL INSTITUTION          | 437                         | 5         | 7       | 1      | 0        | 2                        | 109    | 1.60%                         | 24.94%  |
| STATE    | SOUTHEASTERN CORRECTIONAL INSTITUTION  | 316                         | 2         | 2       | 0      | 0        | 0                        | 99     | 0.63%                         | 31.33%  |
| STATE    | SOUTHERN OHIO CORRECTIONAL FACILITY    | 582                         | 9         | 7       | 1      | 1        | 4                        | 199    | 1.20%                         | 34.19%  |
| STATE    | STARK STATE COLLEGE                    | 272                         | 2         | 0       | 0      | 0        | 2                        | 2      | 0.00%                         | 0.74%   |
| STATE    | SUMMIT BEHAVIORAL HEALTH CARE          | 372                         | 0         | 0       | 0      | 1        | 0                        | 38     | 0.00%                         | 10.22%  |
| STATE    | SUPREME COURT                          | 1,166                       | 1         | 1       | 0      | 0        | 0                        | 12     | 0.09%                         | 1.03%   |
| STATE    | TIFFIN DEVELOPMENTAL CENTER            | 183                         | 2         | 2       | 0      | 1        | 1                        | 32     | 1.09%                         | 17.49%  |
| STATE    | TOLEDO CORRECTIONAL INSTITUTION        | 392                         | 2         | 4       | 0      | 0        | 0                        | 19     | 1.02%                         | 4.85%   |
| STATE    | TRUMBULL CORRECTIONAL INSTITUTION      | 337                         | 7         | 4       | 0      | 1        | 3                        | 49     | 1.19%                         | 14.54%  |
| STATE    | TWIN VALLEY PSYCHIATRIC SYSTEM         | 474                         | 1         | 0       | 0      | 1        | 0                        | 130    | 0.00%                         | 27.43%  |
| STATE    | UNIVERSITY OF CINCINNATI               | 5,201                       | 2         | 0       | 0      | 2        | 0                        | 137    | 0.00%                         | 2.63%   |
| STATE    | UNIVERSITY OF TOLEDO                   | 3,495                       | 3         | 6       | 0      | 0        | 1                        | 175    | 0.17%                         | 5.01%   |
| STATE    | WARREN CORRECTIONAL INSTITUTION        | 319                         | 5         | 2       | 0      | 1        | 2                        | 93     | 0.63%                         | 29.15%  |
| STATE    | WARRENSVILLE DEVELOPMENTAL CENTER      | 326                         | 2         | 0       | 0      | 1        | 1                        | 71     | 0.00%                         | 21.78%  |



| Division | Employer Name                         | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|---------------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| STATE    | WORKER'S COMPENSATION BUREAU          | 1,562                       | 5         | 3       | 0      | 1        | 3                        | 159    | 0.19%                         | 10.18%  |
| STATE    | WRIGHT STATE UNIVERSITY               | 957                         | 2         | 0       | 0      | 1        | 1                        | 60     | 0.00%                         | 6.27%   |
| STATE    | YOUNGSTOWN STATE UNIVERSITY           | 1,178                       | 4         | 2       | 1      | 2        | 0                        | 17     | 0.17%                         | 1.44%   |
| STATE    | YOUTH SERVICES-CENTRAL OFFICE         | 182                         | 1         | 1       | 0      | 2        | 0                        | 44     | 0.55%                         | 24.18%  |
| LOCAL    | ADAMS TWP                             | 50                          | 0         | 1       | 0      | 0        | 0                        | 2      | 2.00%                         | 4.00%   |
| LOCAL    | AKRON METROPOLITAN HOUSING AUTHORITY  | 356                         | 4         | 1       | 0      | 3        | 1                        | 12     | 0.28%                         | 3.37%   |
| LOCAL    | AKRON SUMMIT CO PUBLIC LIBRARY        | 381                         | 3         | 1       | 0      | 0        | 2                        | 12     | 0.26%                         | 3.15%   |
| LOCAL    | ALLEN COUNTY                          | 814                         | 6         | 2       | 1      | 2        | 1                        | 36     | 0.25%                         | 4.42%   |
| LOCAL    | ASHLAND COUNTY                        | 313                         | 0         | 2       | 0      | 0        | 0                        | 9      | 0.64%                         | 2.88%   |
| LOCAL    | ASHTABULA COUNTY                      | 732                         | 7         | 2       | 0      | 3        | 2                        | 37     | 0.27%                         | 5.05%   |
| LOCAL    | ATHENS COUNTY                         | 548                         | 0         | 1       | 0      | 0        | 0                        | 30     | 0.18%                         | 5.47%   |
| LOCAL    | ATHENS METROPOLITAN HOUSING AUTHORITY | 11                          | 2         | 1       | 0      | 0        | 1                        | 0      | 9.09%                         | 0.00%   |
| LOCAL    | BAINBRIDGETWP                         | 36                          | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                         | 0.00%   |
| LOCAL    | BELMONT COUNTY                        | 647                         | 0         | 1       | 0      | 0        | 0                        | 38     | 0.15%                         | 5.87%   |
| LOCAL    | BROWN COUNTY                          | 247                         | 1         | 1       | 0      | 1        | 1                        | 12     | 0.40%                         | 4.86%   |
| LOCAL    | BUTLER COUNTY                         | 1,736                       | 3         | 3       | 0      | 1        | 1                        | 99     | 0.17%                         | 5.70%   |
| LOCAL    | BUTLER COUNTY REGIONAL TRANSIT AUTH   | 82                          | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                         | 0.00%   |
| LOCAL    | CENTRAL OHIO TRANSIT AUTHORITY        | 1,036                       | 1         | 0       | 0      | 1        | 0                        | 104    | 0.00%                         | 10.04%  |
| LOCAL    | CHAMPAIGN COUNTY                      | 326                         | 2         | 0       | 1      | 0        | 1                        | 12     | 0.00%                         | 3.68%   |
| LOCAL    | CITY OF AKRON                         | 1,282                       | 5         | 1       | 1      | 2        | 4                        | 167    | 0.08%                         | 13.03%  |
| LOCAL    | CITY OF BROOK PARK                    | 128                         | 0         | 1       | 0      | 0        | 0                        | 11     | 0.78%                         | 8.59%   |
| LOCAL    | CITY OF BROOKLYN                      | 142                         | 0         | 1       | 0      | 0        | 0                        | 4      | 0.70%                         | 2.82%   |
| LOCAL    | CITY OF BRUNSWICK                     | 102                         | 1         | 1       | 0      | 0        | 0                        | 3      | 0.98%                         | 2.94%   |
| LOCAL    | CITY OF BRYAN                         | 122                         | 0         | 1       | 0      | 0        | 0                        | 5      | 0.82%                         | 4.10%   |
| LOCAL    | CITY OF BUCYRUS                       | 67                          | 0         | 1       | 0      | 0        | 0                        | 3      | 1.49%                         | 4.48%   |
| LOCAL    | CITY OF CANTON                        | 673                         | 4         | 2       | 0      | 2        | 1                        | 41     | 0.30%                         | 6.09%   |



| Division | Employer Name          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| LOCAL    | CITY OF CARLISLE       | 17                          | 1         | 1       | 0      | 0        | 0                        | 1      | 5.88%                         | 5.88%   |
| LOCAL    | CITY OF CENTERVILLE    | 153                         | 1         | 0       | 0      | 0        | 1                        | 6      | 0.00%                         | 3.92%   |
| LOCAL    | CITY OF CHILLICOTHE    | 175                         | 1         | 2       | 0      | 0        | 0                        | 9      | 1.14%                         | 5.14%   |
| LOCAL    | CITY OF CLEVELAND      | 5,071                       | 24        | 8       | 0      | 13       | 8                        | 505    | 0.16%                         | 9.96%   |
| LOCAL    | CITY OF COLUMBUS       | 5,487                       | 13        | 5       | 0      | 6        | 6                        | 414    | 0.09%                         | 7.55%   |
| LOCAL    | CITY OF CUYAHOGA FALLS | 501                         | 2         | 1       | 0      | 0        | 1                        | 26     | 0.20%                         | 5.19%   |
| LOCAL    | CITY OF DAYTON         | 1,177                       | 6         | 6       | 0      | 2        | 2                        | 306    | 0.51%                         | 26.00%  |
| LOCAL    | CITY OF EUCLID         | 238                         | 1         | 0       | 0      | 0        | 1                        | 24     | 0.00%                         | 10.08%  |
| LOCAL    | CITY OF FAIRVIEW PARK  | 132                         | 2         | 1       | 0      | 1        | 0                        | 7      | 0.76%                         | 5.30%   |
| LOCAL    | CITY OF FINDLAY        | 224                         | 2         | 0       | 0      | 1        | 1                        | 13     | 0.00%                         | 5.80%   |
| LOCAL    | CITY OF GALION         | 77                          | 1         | 1       | 0      | 0        | 0                        | 5      | 1.30%                         | 6.49%   |
| LOCAL    | CITY OF GIRARD         | 70                          | 1         | 0       | 0      | 0        | 1                        | 5      | 0.00%                         | 7.14%   |
| LOCAL    | CITY OF GROVE CITY     | 208                         | 1         | 0       | 0      | 1        | 0                        | 4      | 0.00%                         | 1.92%   |
| LOCAL    | CITY OF HAMILTON       | 410                         | 1         | 1       | 0      | 0        | 0                        | 43     | 0.24%                         | 10.49%  |
| LOCAL    | CITY OF HILLIARD       | 164                         | 2         | 2       | 0      | 0        | 0                        | 7      | 1.22%                         | 4.27%   |
| LOCAL    | CITY OF HILLSBORO      | 55                          | 3         | 0       | 0      | 1        | 2                        | 6      | 0.00%                         | 10.91%  |
| LOCAL    | CITY OF HUDSON         | 186                         | 0         | 1       | 0      | 0        | 0                        | 9      | 0.54%                         | 4.84%   |
| LOCAL    | CITY OF KENT           | 159                         | 1         | 0       | 0      | 0        | 1                        | 8      | 0.00%                         | 5.03%   |
| LOCAL    | CITY OF KETTERING      | 504                         | 2         | 2       | 0      | 0        | 1                        | 22     | 0.40%                         | 4.37%   |
| LOCAL    | CITY OF LAKEWOOD       | 300                         | 1         | 1       | 0      | 1        | 0                        | 25     | 0.33%                         | 8.33%   |
| LOCAL    | CITY OF LIMA           | 266                         | 2         | 2       | 0      | 1        | 1                        | 14     | 0.75%                         | 5.26%   |
| LOCAL    | CITY OF LOGAN          | 53                          | 2         | 2       | 0      | 0        | 0                        | 7      | 3.77%                         | 13.21%  |
| LOCAL    | CITY OF LYNDHURST      | 104                         | 0         | 1       | 0      | 0        | 0                        | 4      | 0.96%                         | 3.85%   |
| LOCAL    | CITY OF MARTINS FERRY  | 91                          | 1         | 0       | 0      | 1        | 0                        | 5      | 0.00%                         | 5.49%   |
| LOCAL    | CITY OF MASON          | 207                         | 1         | 1       | 0      | 0        | 1                        | 3      | 0.48%                         | 1.45%   |
| LOCAL    | CITY OF MAUMEE         | 112                         | 2         | 1       | 0      | 0        | 1                        | 9      | 0.89%                         | 8.04%   |



| Division | Employer Name          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| LOCAL    | CITY OF MENTOR         | 324                         | 0         | 0       | 0      | 1        | 0                        | 18     | 0.00%                         | 5.56%   |
| LOCAL    | CITY OF MORAINE        | 83                          | 0         | 0       | 0      | 1        | 0                        | 14     | 0.00%                         | 16.87%  |
| LOCAL    | CITY OF NAPOLEON       | 99                          | 2         | 2       | 0      | 0        | 0                        | 7      | 2.02%                         | 7.07%   |
| LOCAL    | CITY OF NELSONVILLE    | 27                          | 1         | 0       | 0      | 1        | 0                        | 1      | 0.00%                         | 3.70%   |
| LOCAL    | CITY OF NEWTON FALLS   | 67                          | 0         | 0       | 0      | 1        | 0                        | 2      | 0.00%                         | 2.99%   |
| LOCAL    | CITY OF OAKWOOD        | 72                          | 1         | 1       | 0      | 0        | 0                        | 3      | 1.39%                         | 4.17%   |
| LOCAL    | CITY OF OREGON         | 154                         | 2         | 0       | 0      | 0        | 2                        | 12     | 0.00%                         | 7.79%   |
| LOCAL    | CITY OF PARMA          | 443                         | 2         | 2       | 0      | 1        | 0                        | 18     | 0.45%                         | 4.06%   |
| LOCAL    | CITY OF PICKERINGTON   | 73                          | 0         | 1       | 0      | 0        | 0                        | 4      | 1.37%                         | 5.48%   |
| LOCAL    | CITY OF PIQUA          | 131                         | 3         | 1       | 0      | 2        | 1                        | 13     | 0.76%                         | 9.92%   |
| LOCAL    | CITY OF PORTSMOUTH     | 183                         | 1         | 2       | 0      | 0        | 0                        | 29     | 1.09%                         | 15.85%  |
| LOCAL    | CITY OF SEVEN HILLS    | 119                         | 1         | 0       | 0      | 0        | 1                        | 4      | 0.00%                         | 3.36%   |
| LOCAL    | CITY OF SHAKER HEIGHTS | 271                         | 0         | 1       | 0      | 0        | 0                        | 23     | 0.37%                         | 8.49%   |
| LOCAL    | CITY OF SIDNEY         | 139                         | 1         | 1       | 0      | 0        | 0                        | 8      | 0.72%                         | 5.76%   |
| LOCAL    | CITY OF SOLON          | 371                         | 1         | 0       | 0      | 1        | 0                        | 6      | 0.00%                         | 1.62%   |
| LOCAL    | CITY OF SOUTH EUCLID   | 100                         | 0         | 1       | 0      | 0        | 1                        | 5      | 1.00%                         | 5.00%   |
| LOCAL    | CITY OF SPRINGFIELD    | 338                         | 2         | 1       | 0      | 0        | 1                        | 34     | 0.30%                         | 10.06%  |
| LOCAL    | CITY OF STEUBENVILLE   | 121                         | 1         | 1       | 0      | 0        | 1                        | 20     | 0.83%                         | 16.53%  |
| LOCAL    | CITY OF STOW           | 260                         | 0         | 1       | 0      | 0        | 0                        | 11     | 0.38%                         | 4.23%   |
| LOCAL    | CITY OF STRONGSVILLE   | 287                         | 1         | 1       | 0      | 0        | 0                        | 11     | 0.35%                         | 3.83%   |
| LOCAL    | CITY OF TALLMADGE      | 171                         | 1         | 1       | 0      | 0        | 0                        | 9      | 0.58%                         | 5.26%   |
| LOCAL    | CITY OF TOLEDO         | 1,494                       | 4         | 2       | 0      | 3        | 1                        | 143    | 0.13%                         | 9.57%   |
| LOCAL    | CITY OF UHRICHSVILLE   | 14                          | 2         | 1       | 0      | 1        | 0                        | 1      | 7.14%                         | 7.14%   |
| LOCAL    | CITY OF VANDALIA       | 222                         | 0         | 1       | 0      | 0        | 0                        | 7      | 0.45%                         | 3.15%   |
| LOCAL    | CITY OF WADSWORTH      | 208                         | 1         | 1       | 0      | 0        | 0                        | 21     | 0.48%                         | 10.10%  |
| LOCAL    | CITY OF WARREN         | 264                         | 3         | 2       | 0      | 2        | 0                        | 42     | 0.76%                         | 15.91%  |



| Division | Employer Name                        | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted<br>to Active<br>Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--------------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------------|---|
| LOCAL    | CITY OF WARRENSVILLE HEIGHTS         | 83                          | 0         | 0       | 0      | 1        | 0                        | 8      | 0.00%                               | 9.64%   |
| LOCAL    | CITY OF WHITEHALL                    | 169                         | 1         | 1       | 0      | 0        | 0                        | 4      | 0.59%                               | 2.37%   |
| LOCAL    | CITY OF WICKLIFFE                    | 78                          | 1         | 0       | 0      | 0        | 1                        | 6      | 0.00%                               | 7.69%   |
| LOCAL    | CITY OF WILLOUGHBY                   | 200                         | 1         | 1       | 0      | 0        | 1                        | 12     | 0.50%                               | 6.00%   |
| LOCAL    | CITY OF WILMINGTON                   | 165                         | 1         | 2       | 0      | 0        | 0                        | 8      | 1.21%                               | 4.85%   |
| LOCAL    | CITY OF YOUNGSTOWN                   | 452                         | 4         | 3       | 0      | 0        | 3                        | 40     | 0.66%                               | 8.85%   |
| LOCAL    | CITY OF ZANESVILLE                   | 228                         | 0         | 1       | 0      | 0        | 0                        | 14     | 0.44%                               | 6.14%   |
| LOCAL    | CLARK COUNTY                         | 977                         | 1         | 1       | 0      | 2        | 0                        | 76     | 0.10%                               | 7.78%   |
| LOCAL    | CLERMONT COUNTY                      | 1,130                       | 3         | 1       | 0      | 0        | 2                        | 88     | 0.09%                               | 7.79%   |
| LOCAL    | CLEVELAND METRO PARKS SYSTEMS        | 1,031                       | 2         | 2       | 0      | 0        | 0                        | 14     | 0.19%                               | 1.36%   |
| LOCAL    | CLEVELAND PUBLIC LIBRARY             | 554                         | 1         | 3       | 0      | 0        | 0                        | 20     | 0.54%                               | 3.61%   |
| LOCAL    | CLINTON COUNTY                       | 295                         | 1         | 1       | 0      | 0        | 0                        | 7      | 0.34%                               | 2.37%   |
| LOCAL    | COLUMBIANA COUNTY                    | 436                         | 2         | 1       | 0      | 0        | 1                        | 31     | 0.23%                               | 7.11%   |
| LOCAL    | COLUMBUS METROPOLITAN HOUSING AUTH   | 125                         | 1         | 0       | 0      | 0        | 1                        | 13     | 0.00%                               | 10.40%  |
| LOCAL    | COLUMBUS REGIONAL AIRPORT AUTHORITY  | 352                         | 2         | 2       | 0      | 1        | 0                        | 18     | 0.57%                               | 5.11%   |
| LOCAL    | COLUMBUS ZOOLOGICAL PARK ASSOCIATION | 282                         | 1         | 1       | 0      | 0        | 0                        | 4      | 0.35%                               | 1.42%   |
| LOCAL    | COSHOCTON COUNTY                     | 376                         | 3         | 1       | 0      | 1        | 1                        | 8      | 0.27%                               | 2.13%   |
| LOCAL    | CUYAHOGA COUNTY                      | 6,902                       | 30        | 18      | 2      | 12       | 8                        | 490    | 0.26%                               | 7.10%   |
| LOCAL    | CUYAHOGA COUNTY COMMUNITY COLLEGE    | 1,099                       | 2         | 0       | 0      | 1        | 1                        | 22     | 0.00%                               | 2.00%   |
| LOCAL    | CUYAHOGA COUNTY PUBLIC LIBRARY       | 801                         | 3         | 0       | 2      | 2        | 0                        | 17     | 0.00%                               | 2.12%   |
| LOCAL    | CUYAHOGA METROPOLITAN HOUSING AUTH   | 626                         | 5         | 3       | 0      | 0        | 2                        | 89     | 0.48%                               | 14.22%  |
| LOCAL    | DARKE COUNTY                         | 317                         | 1         | 0       | 0      | 0        | 1                        | 7      | 0.00%                               | 2.21%   |
| LOCAL    | DEERFIELD TWP                        | 72                          | 1         | 1       | 0      | 0        | 0                        | 3      | 1.39%                               | 4.17%   |
| LOCAL    | DELAWARE COUNTY                      | 1,143                       | 2         | 1       | 0      | 1        | 1                        | 26     | 0.09%                               | 2.27%   |
| LOCAL    | ERIE COUNTY                          | 746                         | 1         | 1       | 0      | 0        | 0                        | 28     | 0.13%                               | 3.75%   |
| LOCAL    | ERIE METROPOLITAN HOUSING AUTHORITY  | 28                          | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                               | 3.57%   |



| Division | Employer Name                        | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted<br>to Active<br>Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--------------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------------|---|
| LOCAL    | FAIRFIELD COUNTY                     | 843                         | 4         | 0       | 0      | 2        | 2                        | 27     | 0.00%                               | 3.20%   |
| LOCAL    | FAYETTE COUNTY                       | 409                         | 1         | 0       | 0      | 1        | 0                        | 4      | 0.00%                               | 0.98%   |
| LOCAL    | FIVE RIVERS METROPARKS               | 177                         | 2         | 0       | 0      | 1        | 1                        | 7      | 0.00%                               | 3.95%   |
| LOCAL    | FRANKLIN COUNTY                      | 5,931                       | 14        | 7       | 1      | 6        | 4                        | 275    | 0.12%                               | 4.64%   |
| LOCAL    | FRANKLIN COUNTY RESIDENTIAL DEPT     | 26                          | 1         | 0       | 0      | 0        | 1                        | 3      | 0.00%                               | 11.54%  |
| LOCAL    | FRANKLIN PARK CONSERVATORY           | 124                         | 1         | 1       | 0      | 0        | 0                        | 1      | 0.81%                               | 0.81%   |
| LOCAL    | FULTON COUNTY                        | 383                         | 1         | 0       | 0      | 0        | 1                        | 13     | 0.00%                               | 3.39%   |
| LOCAL    | GALLIA COUNTY                        | 322                         | 1         | 0       | 0      | 1        | 1                        | 18     | 0.00%                               | 5.59%   |
| LOCAL    | GEAUGA CO PUBLIC LIBRARY             | 152                         | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                               | 0.66%   |
| LOCAL    | GREATER CLEVELAND REGIONAL TRANSIT   | 1,859                       | 11        | 5       | 0      | 4        | 7                        | 317    | 0.27%                               | 17.05%  |
| LOCAL    | GREATER DAYTON REGIONAL TRANSIT AUTH | 528                         | 6         | 2       | 0      | 2        | 2                        | 135    | 0.38%                               | 25.57%  |
| LOCAL    | GREENE COUNTY                        | 883                         | 1         | 0       | 0      | 1        | 0                        | 45     | 0.00%                               | 5.10%   |
| LOCAL    | HAMILTON CO PUBLIC LIBRARY           | 744                         | 1         | 0       | 0      | 0        | 1                        | 16     | 0.00%                               | 2.15%   |
| LOCAL    | HAMILTON COUNTY                      | 3,700                       | 16        | 2       | 1      | 7        | 8                        | 265    | 0.05%                               | 7.16%   |
| LOCAL    | HANCOCK COUNTY                       | 488                         | 2         | 1       | 0      | 1        | 0                        | 27     | 0.20%                               | 5.53%   |
| LOCAL    | HARRISON METROPOLITAN HOUSING AUTH   | 7                           | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | HENRY COUNTY                         | 277                         | 0         | 1       | 0      | 0        | 0                        | 12     | 0.36%                               | 4.33%   |
| LOCAL    | HIGHLAND DISTRICT HOSPITAL           | 387                         | 1         | 1       | 0      | 0        | 0                        | 18     | 0.26%                               | 4.65%   |
| LOCAL    | HOCKING COUNTY                       | 275                         | 1         | 0       | 0      | 0        | 1                        | 11     | 0.00%                               | 4.00%   |
| LOCAL    | HURON COUNTY                         | 410                         | 2         | 2       | 0      | 1        | 0                        | 12     | 0.49%                               | 2.93%   |
| LOCAL    | JEFFERSON REGIONAL WATER AUTHORITY   | 12                          | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | LAKE COUNTY                          | 1,542                       | 8         | 2       | 0      | 3        | 4                        | 71     | 0.13%                               | 4.60%   |
| LOCAL    | LAWRENCE COUNTY                      | 418                         | 2         | 0       | 0      | 2        | 0                        | 34     | 0.00%                               | 8.13%   |
| LOCAL    | LEPPER PUBLIC LIBRARY                | 10                          | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                               | 10.00%  |
| LOCAL    | LICKING COUNTY                       | 937                         | 3         | 2       | 0      | 0        | 1                        | 44     | 0.21%                               | 4.70%   |
| LOCAL    | LOCAL GOVERNMENT IN COOPERATION      | 28                          | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                               | 0.00%   |



| Division | Employer Name                          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted<br>to Active<br>Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------------|---|
| LOCAL    | LODITWP                                | 6                           | 0         | 1       | 0      | 0        | 0                        | 0      | 16.67%                              | 0.00%   |
| LOCAL    | LOGAN COUNTY                           | 503                         | 1         | 1       | 0      | 0        | 1                        | 15     | 0.20%                               | 2.98%   |
| LOCAL    | LORAIN COUNTY                          | 1,787                       | 5         | 3       | 0      | 3        | 1                        | 80     | 0.17%                               | 4.48%   |
| LOCAL    | LORAIN COUNTY COMMUNITY COLLEGE        | 579                         | 2         | 0       | 0      | 2        | 0                        | 7      | 0.00%                               | 1.21%   |
| LOCAL    | LORAIN METROPOLITAN HOUSING AUTHORITY  | 96                          | 1         | 0       | 0      | 1        | 0                        | 4      | 0.00%                               | 4.17%   |
| LOCAL    | LORAIN PUBLIC LIBRARY                  | 105                         | 0         | 1       | 0      | 0        | 0                        | 4      | 0.95%                               | 3.81%   |
| LOCAL    | LUCAS COUNTY                           | 2,720                       | 6         | 5       | 0      | 1        | 2                        | 208    | 0.18%                               | 7.65%   |
| LOCAL    | LUCAS METROPOLITAN HOUSING AUTHORITY   | 139                         | 1         | 1       | 0      | 0        | 0                        | 3      | 0.72%                               | 2.16%   |
| LOCAL    | MADISON COUNTY                         | 300                         | 0         | 1       | 0      | 0        | 0                        | 14     | 0.33%                               | 4.67%   |
| LOCAL    | MAHONING AND COLUMBIANA TRAINING ASSOC | 44                          | 1         | 0       | 0      | 0        | 1                        | 3      | 0.00%                               | 6.82%   |
| LOCAL    | MAHONING COUNTY                        | 1,329                       | 3         | 2       | 0      | 0        | 2                        | 106    | 0.15%                               | 7.98%   |
| LOCAL    | MANSFIELD/RICHLAND CO PUBLIC LIBRARY   | 135                         | 2         | 0       | 0      | 0        | 2                        | 3      | 0.00%                               | 2.22%   |
| LOCAL    | MARION COUNTY                          | 487                         | 2         | 0       | 0      | 1        | 1                        | 23     | 0.00%                               | 4.72%   |
| LOCAL    | MARION METROPOLITAN HOUSING AUTHORITY  | 4                           | 0         | 0       | 1      | 0        | 0                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | MEDINA COUNTY                          | 1,052                       | 2         | 1       | 0      | 1        | 2                        | 44     | 0.10%                               | 4.18%   |
| LOCAL    | MERCER COUNTY                          | 270                         | 1         | 1       | 0      | 0        | 0                        | 6      | 0.37%                               | 2.22%   |
| LOCAL    | METRO REGIONAL TRANSIT AUTHORITY       | 346                         | 5         | 3       | 0      | 0        | 2                        | 81     | 0.87%                               | 23.41%  |
| LOCAL    | METROHEALTH MEDICAL CENTER             | 7,574                       | 7         | 7       | 0      | 2        | 3                        | 220    | 0.09%                               | 2.90%   |
| LOCAL    | METROPOLITAN PARK DISTRICT OF TOLEDO   | 192                         | 2         | 1       | 0      | 0        | 1                        | 1      | 0.52%                               | 0.52%   |
| LOCAL    | MIAMI COUNTY                           | 692                         | 2         | 1       | 0      | 1        | 0                        | 30     | 0.14%                               | 4.34%   |
| LOCAL    | MIAMI METROPOLITAN HOUSING AUTHORITY   | 20                          | 0         | 0       | 0      | 1        | 0                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | MILL CREEK PARK                        | 107                         | 1         | 0       | 0      | 1        | 0                        | 3      | 0.00%                               | 2.80%   |
| LOCAL    | MONROE COUNTY                          | 211                         | 2         | 1       | 0      | 1        | 1                        | 5      | 0.47%                               | 2.37%   |
| LOCAL    | MONTGOMERY COUNTY                      | 3,771                       | 13        | 8       | 4      | 2        | 7                        | 403    | 0.21%                               | 10.69%  |
| LOCAL    | NOBLE COUNTY                           | 167                         | 1         | 1       | 0      | 0        | 0                        | 6      | 0.60%                               | 3.59%   |
| LOCAL    | NORTHEAST OHIO REGIONAL SEWER DISTRICT | 720                         | 4         | 3       | 0      | 1        | 1                        | 59     | 0.42%                               | 8.19%   |



| Division | Employer Name                          | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| LOCAL    | NORTHWESTERN WATER AND SEWER DIST      | 80                          | 2         | 1       | 0      | 0        | 1                        | 1      | 1.25%                         | 1.25%   |
| LOCAL    | OHIO POLICE AND FIRE PENSION FUND      | 129                         | 1         | 1       | 0      | 0        | 0                        | 4      | 0.78%                         | 3.10%   |
| LOCAL    | OHIO PUBLIC EMPLOYEES RETIREMENT SYS   | 470                         | 3         | 1       | 0      | 0        | 2                        | 24     | 0.21%                         | 5.11%   |
| LOCAL    | OTTAWA COUNTY                          | 456                         | 2         | 0       | 0      | 2        | 0                        | 28     | 0.00%                         | 6.14%   |
| LOCAL    | PAULDING COUNTY                        | 177                         | 0         | 1       | 0      | 0        | 0                        | 7      | 0.56%                         | 3.95%   |
| LOCAL    | PIKE COUNTY                            | 245                         | 1         | 1       | 0      | 2        | 0                        | 23     | 0.41%                         | 9.39%   |
| LOCAL    | PORTAGE AREA REGIONAL TRANSIT AUTH     | 122                         | 0         | 1       | 0      | 0        | 0                        | 1      | 0.82%                         | 0.82%   |
| LOCAL    | PORTAGE COUNTY                         | 917                         | 4         | 3       | 0      | 0        | 1                        | 65     | 0.33%                         | 7.09%   |
| LOCAL    | PORTSMOUTH PUBLIC LIBRARY              | 59                          | 1         | 0       | 0      | 0        | 1                        | 2      | 0.00%                         | 3.39%   |
| LOCAL    | PRAIRIETWP                             | 81                          | 2         | 0       | 0      | 0        | 2                        | 0      | 0.00%                         | 0.00%   |
| LOCAL    | PREBLE COUNTY                          | 270                         | 1         | 0       | 1      | 0        | 0                        | 13     | 0.00%                         | 4.81%   |
| LOCAL    | PUTNAM COUNTY                          | 384                         | 0         | 1       | 0      | 0        | 0                        | 9      | 0.26%                         | 2.34%   |
| LOCAL    | REUBEN MCMILLAN FREE LIBRARY           | 174                         | 0         | 1       | 0      | 0        | 0                        | 6      | 0.57%                         | 3.45%   |
| LOCAL    | RICHLAND COUNTY                        | 924                         | 2         | 1       | 0      | 0        | 1                        | 46     | 0.11%                         | 4.98%   |
| LOCAL    | ROSS COUNTY                            | 627                         | 0         | 1       | 0      | 0        | 0                        | 44     | 0.16%                         | 7.02%   |
| LOCAL    | ROSSFORD PUBLIC LIBRARY                | 9                           | 0         | 1       | 0      | 0        | 0                        | 1      | 11.11%                        | 11.11%  |
| LOCAL    | SANDUSKY COUNTY                        | 566                         | 0         | 1       | 0      | 0        | 0                        | 16     | 0.18%                         | 2.83%   |
| LOCAL    | SCIOTO COUNTY                          | 622                         | 1         | 0       | 1      | 0        | 0                        | 50     | 0.00%                         | 8.04%   |
| LOCAL    | SCIOTO TWP                             | 55                          | 1         | 1       | 0      | 0        | 0                        | 4      | 1.82%                         | 7.27%   |
| LOCAL    | SINCLAIR COMMUNITY COLLEGE             | 905                         | 0         | 1       | 0      | 0        | 0                        | 10     | 0.11%                         | 1.10%   |
| LOCAL    | SOUTHWEST OHIO REGIONAL TRANSIT AUTH   | 974                         | 4         | 6       | 0      | 1        | 0                        | 183    | 0.62%                         | 18.79%  |
| LOCAL    | STARK COUNTY                           | 2,482                       | 5         | 1       | 0      | 1        | 3                        | 113    | 0.04%                         | 4.55%   |
| LOCAL    | STEEL VALLEY REGIONAL TRANSIT AUTH     | 23                          | 0         | 1       | 0      | 0        | 0                        | 2      | 4.35%                         | 8.70%   |
| LOCAL    | SUMMIT COUNTY                          | 2,776                       | 7         | 3       | 0      | 1        | 3                        | 231    | 0.11%                         | 8.32%   |
| LOCAL    | SYLVANIA TWP                           | 50                          | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                         | 2.00%   |
| LOCAL    | TOLEDO AREA REGIONAL TRANSIT AUTHORITY | 236                         | 3         | 1       | 0      | 0        | 3                        | 44     | 0.42%                         | 18.64%  |



| Division | Employer Name                        | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted<br>to Active<br>Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|--------------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------------|---|
| LOCAL    | TRUMBULL COUNTY                      | 1,293                       | 3         | 2       | 1      | 1        | 0                        | 76     | 0.15%                               | 5.88%   |
| LOCAL    | TRUMBULL METROPOLITAN HOUSING AUTH   | 61                          | 2         | 0       | 0      | 0        | 2                        | 6      | 0.00%                               | 9.84%   |
| LOCAL    | TURTLECREEK TWP                      | 41                          | 1         | 0       | 0      | 0        | 1                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | TWINSBURG PUBLIC LIBRARY             | 51                          | 1         | 0       | 0      | 1        | 0                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | UNION COUNTY                         | 473                         | 2         | 1       | 0      | 0        | 1                        | 16     | 0.21%                               | 3.38%   |
| LOCAL    | UNION COUNTY MEMORIAL HOSPITAL       | 859                         | 0         | 1       | 0      | 0        | 0                        | 10     | 0.12%                               | 1.16%   |
| LOCAL    | VILLAGE OF ADA                       | 17                          | 0         | 1       | 0      | 0        | 0                        | 3      | 5.88%                               | 17.65%  |
| LOCAL    | VILLAGE OF CASTALIA                  | 7                           | 1         | 1       | 0      | 0        | 0                        | 1      | 14.29%                              | 14.29%  |
| LOCAL    | VILLAGE OF LITHOPOLIS                | 12                          | 1         | 0       | 0      | 1        | 0                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | VILLAGE OF OAK HILL                  | 21                          | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                               | 4.76%   |
| LOCAL    | VILLAGE OF ST PARIS                  | 18                          | 3         | 0       | 0      | 1        | 2                        | 0      | 0.00%                               | 0.00%   |
| LOCAL    | VILLAGE OF VALLEY VIEW               | 51                          | 1         | 1       | 0      | 0        | 0                        | 2      | 1.96%                               | 3.92%   |
| LOCAL    | VILLAGE OF WINTERSVILLE              | 39                          | 1         | 0       | 0      | 0        | 1                        | 1      | 0.00%                               | 2.56%   |
| LOCAL    | VINTON COUNTY                        | 160                         | 1         | 1       | 0      | 0        | 0                        | 11     | 0.63%                               | 6.88%   |
| LOCAL    | WARREN COUNTY                        | 1,238                       | 2         | 2       | 0      | 0        | 2                        | 43     | 0.16%                               | 3.47%   |
| LOCAL    | WASHINGTON COUNTY                    | 496                         | 2         | 1       | 0      | 1        | 1                        | 22     | 0.20%                               | 4.44%   |
| LOCAL    | WAYNE COUNTY                         | 683                         | 0         | 1       | 0      | 0        | 0                        | 29     | 0.15%                               | 4.25%   |
| LOCAL    | WEST CENTRAL OHIO NETWORK            | 11                          | 0         | 1       | 0      | 0        | 0                        | 1      | 9.09%                               | 9.09%   |
| LOCAL    | WOOD COUNTY                          | 972                         | 3         | 2       | 0      | 0        | 2                        | 32     | 0.21%                               | 3.29%   |
| LOCAL    | WOOSTER HOSPITAL                     | 1,041                       | 1         | 1       | 0      | 0        | 0                        | 21     | 0.10%                               | 2.02%   |
| LOCAL    | WYANDOT COUNTY                       | 320                         | 2         | 0       | 0      | 0        | 2                        | 9      | 0.00%                               | 2.81%   |
| LOCAL    | WYANDOT MEMORIAL HOSPITAL            | 392                         | 1         | 0       | 0      | 1        | 0                        | 11     | 0.00%                               | 2.81%   |
| LOCAL    | YOUNGSTOWN METROPOLITAN HOUSING AUTH | 53                          | 0         | 1       | 0      | 0        | 0                        | 7      | 1.89%                               | 13.21%  |
| LAW      | ASHLAND COUNTY                       | 40                          | 1         | 1       | 0      | 0        | 0                        | 4      | 2.50%                               | 10.00%  |
| LAW      | BUTLER COUNTY                        | 143                         | 2         | 0       | 0      | 1        | 1                        | 27     | 0.00%                               | 18.88%  |
| LAW      | CITY OF CLEVELAND HEIGHTS            | 11                          | 0         | 1       | 0      | 0        | 0                        | 1      | 9.09%                               | 9.09%   |



| Division | Employer Name                    | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted to Active Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|----------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------|---|
| LAW      | CLARK COUNTY                     | 109                         | 1         | 2       | 0      | 0        | 0                        | 46     | 1.83%                         | 42.20%  |
| LAW      | CLINTON COUNTY                   | 31                          | 1         | 0       | 0      | 0        | 1                        | 2      | 0.00%                         | 6.45%   |
| LAW      | COLERAINTWP                      | 54                          | 1         | 0       | 0      | 0        | 1                        | 7      | 0.00%                         | 12.96%  |
| LAW      | COLUMBUS DEVELOPMENTAL CENTER    | 4                           | 1         | 0       | 0      | 1        | 0                        | 2      | 0.00%                         | 50.00%  |
| LAW      | CUYAHOGA COUNTY                  | 178                         | 5         | 1       | 0      | 1        | 3                        | 18     | 0.56%                         | 10.11%  |
| LAW      | FAIRFIELD COUNTY                 | 99                          | 3         | 2       | 0      | 2        | 0                        | 13     | 2.02%                         | 13.13%  |
| LAW      | FRANKLIN COUNTY                  | 610                         | 5         | 4       | 0      | 1        | 2                        | 134    | 0.66%                         | 21.97%  |
| LAW      | FRANKLINTWP                      | 17                          | 2         | 0       | 0      | 2        | 0                        | 5      | 0.00%                         | 29.41%  |
| LAW      | GALLIA COUNTY                    | 34                          | 2         | 0       | 0      | 2        | 0                        | 8      | 0.00%                         | 23.53%  |
| LAW      | GREAT PARKS OF HAMILTON COUNTY   | 27                          | 1         | 1       | 0      | 0        | 0                        | 3      | 3.70%                         | 11.11%  |
| LAW      | GREENE COUNTY                    | 60                          | 1         | 1       | 0      | 0        | 0                        | 35     | 1.67%                         | 58.33%  |
| LAW      | HAMILTON COUNTY                  | 348                         | 1         | 2       | 0      | 0        | 0                        | 112    | 0.57%                         | 32.18%  |
| LAW      | HEARTLAND BEHAVIORAL HEALTHCARE  | 9                           | 1         | 0       | 0      | 1        | 0                        | 2      | 0.00%                         | 22.22%  |
| LAW      | JACKSON TWP                      | 61                          | 1         | 1       | 0      | 1        | 0                        | 11     | 1.64%                         | 18.03%  |
| LAW      | LAKE COUNTY                      | 56                          | 1         | 1       | 0      | 0        | 0                        | 6      | 1.79%                         | 10.71%  |
| LAW      | LAKETWP                          | 24                          | 0         | 1       | 0      | 0        | 0                        | 7      | 4.17%                         | 29.17%  |
| LAW      | LICKING COUNTY                   | 98                          | 1         | 1       | 0      | 0        | 0                        | 30     | 1.02%                         | 30.61%  |
| LAW      | MAHONING COUNTY                  | 183                         | 1         | 0       | 0      | 0        | 1                        | 85     | 0.00%                         | 46.45%  |
| LAW      | MIAMI COUNTY                     | 53                          | 0         | 1       | 0      | 0        | 0                        | 8      | 1.89%                         | 15.09%  |
| LAW      | MONTGOMERY COUNTY                | 214                         | 3         | 2       | 0      | 1        | 2                        | 123    | 0.93%                         | 57.48%  |
| LAW      | NATURAL RESOURCES ADMINISTRATION | 299                         | 1         | 0       | 0      | 1        | 0                        | 57     | 0.00%                         | 19.06%  |
| LAW      | OLMSTED TWP                      | 16                          | 1         | 0       | 0      | 0        | 1                        | 3      | 0.00%                         | 18.75%  |
| LAW      | PERKINSTWP                       | 20                          | 0         | 1       | 0      | 0        | 0                        | 4      | 5.00%                         | 20.00%  |
| LAW      | PIKE COUNTY                      | 19                          | 0         | 1       | 0      | 0        | 0                        | 4      | 5.26%                         | 21.05%  |
| LAW      | RICHLAND COUNTY                  | 39                          | 3         | 0       | 0      | 1        | 2                        | 6      | 0.00%                         | 15.38%  |
| LAW      | SPRINGFIELD TWP                  | 71                          | 2         | 1       | 0      | 0        | 1                        | 24     | 1.41%                         | 33.80%  |



| Division | Employer Name                 | Active<br>Employee<br>Count | Submitted | Granted | Denied | Canceled | Year End<br>(In-Process) | Active | % Granted<br>to Active<br>Employees | Total % Disability<br>Recipients to Active<br>Employees |
|----------|-------------------------------|-----------------------------|-----------|---------|--------|----------|--------------------------|--------|-------------------------------------|---|
| LAW      | SUMMIT BEHAVIORAL HEALTH CARE | 21                          | 1         | 0       | 0      | 0        | 1                        | 4      | 0.00%                               | 19.05%  |
| LAW      | TUSCARAWAS COUNTY             | 37                          | 1         | 0       | 0      | 0        | 1                        | 4      | 0.00%                               | 10.81%  |
| LAW      | UNIONTWP                      | 50                          | 0         | 1       | 0      | 0        | 0                        | 11     | 2.00%                               | 22.00%  |
| LAW      | UNIVERSITY OF AKRON           | 27                          | 0         | 1       | 0      | 0        | 0                        | 6      | 3.70%                               | 22.22%  |
| LAW      | UNIVERSITY OF CINCINNATI      | 54                          | 0         | 1       | 0      | 0        | 0                        | 6      | 1.85%                               | 11.11%  |
| LAW      | WARREN COUNTY                 | 98                          | 1         | 1       | 0      | 0        | 0                        | 16     | 1.02%                               | 16.33%  |
| LAW      | WASHINGTON COUNTY             | 37                          | 3         | 2       | 0      | 0        | 2                        | 14     | 5.41%                               | 37.84%  |
| LAW      | YOUNGSTOWN STATE UNIVERSITY   | 21                          | 1         | 1       | 0      | 1        | 0                        | 3      | 4.76%                               | 14.29%  |